S3 Figure. Dose-Response curves underlying the 96-h ECsg calculations for (A) O,
(B) 1, (C) 3 and (D) 6 d aged nTiO, in ASTM without NOM. The mean mortality for

each treatment is indicated by an open circle, while the filled circle represents the

ECso value together with its 95% confidence interval.

08

o
@
1

2 8
= | Z
£
g $ E /
o 08 f S 06
@ @
8 g /
Fel <}
g g ’
E £ /
c 04 4
5 041 | g0 /
5 g
8 8
a a

0.2 [ 02 -
/ /
0.0 4 00 —_— g
L — . . . T
0.1 10 01 10
nTiOz (mg/L) nTiO; (mg/L)
1.0 1.0 - =
— o o
/
[
0.8 - ° 08 - ff
2 s /
E = /
s = é
-] [
0.6 o |
E = 0.6
N / N
3 |_#_| 3
g / g
£ / E
§ 0.4 - / § 0.4 |
o =
2 5] [
3 g /
a 5 ‘)
0.2 - 02 4 )J
. B /o o i /
T T e T T
0.1 10 0.1 10
nTiO; (mgiL) nTiO; (mglL)




